RH®w

ADSX TL—RI1IN FrTaHE d—X EUB=FbDE FEAFRT(A)
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7:00 | 6:57 2B 2R 4.2 4 g 2 55 5.0 5 hE =HE 7.3 7 BE EZ 10.2 11
2 706 | 703 | R & — 4.2 4 £33 BE 7.3 7 B & i 7.7 8 BEH TiA 10.0 10
3 712 | 709 | P R & 5.1 5 FEH BE 7.3 7 AGRHBIFE 8.6 9 n s b= 11.2 12
4 718 | 715 | A L £ 5.7 5 He =2 6.1 6 NE FF 8.1 8
5 7:24 | 7:21 Xa WE 3.7 3 ErXKEZ 6.2 6 FH B 8.8 9
6 730 | 727 | HFIN EZ 4.9 4 82 W = 5.5 5 XE ¥— 8.3 8
7 736 | 733 | INBK —Z 21 1 #% K 14 5.5 5 =ZNl #£8 8.0 8 all KA 8.8 9
8 742 | 733 | B 18 +0.5 +2 nm# Ik 8.5 9 m =] 8.6 9 wHE B3 9.5 10
BUSRX TL—=RHALI) ILITL— d—RX FOE=H TR EASCRT(A)
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7:00 | 6:57 X8 = 12.3 13 AR —A 13.1 14 #H K a 16.7 18 e =H 21.0 23
2 706 | 703 | MEF (& 11.8 13 (TG-S 12.8 14 #HE @S 12.9 14 =i# IE= 232 26
3 712 | 700 | BAX JEiA 11.6 13 H i 11.8 13 X BB 13.5 15 X M i 13.6 15
4 718 | 715 | I 11.7 13 Ho #& 16.6 18 mE FERX 246 27
5 724 | 721 | EHBER 12.2 13 M BEMT 13.1 14 E R 2 15.0 16
F TL—RFA4)V ILITL— Jd—X /B E=>EUh  #EAFToLT(FR)
START 7«47 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 zoo | 657 | H & & 8.4 12 BEH & 12.0 16 R W 5 13.1 17
2 706 | 703 | MHENRF 6.4 9 W =F=RE 8.0 11 BH LK 13.1 17
2 706 | 703 | TFTXREDME 7.6 11 e HFAK 10.8 15 PEAEH 11.2 15
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